AR EE T T=1815]2
£ I 2 al2|9]| 3
Tlo| | 8|S € 2|3 3 © ®©
=225 S os|l=|TB]| s ©
218|a|E|8 > |[s|22|8| |5 5
B|le| |2 S 2L |||l [ =
2lel &5 % 5 s|efs|= 5 S
el &le| o 2| [2lg|2]2 o
=1l c|® [0} o|ll|lwo| o o S
© = clml a|l=|E|2 5 o|E| 5| @ o =
sl Z2 |=|=|a|T|8|® - =|5l=]g = 3
= = ola| L] 5|a|L Q al=| ey 3 2
Zl z [Sla|s|2|E|la|~ls| |s|lsls|2]|¥|38 3
eleloc|l | s|F| | T|o(o|le)| | S
cls|2|olE|o|lE|E|=|E|8[8| 0] €8 =
Ll Q 8— g s|lo|lo|lS|w|lo|w|lo|o]| & o
— cl| o al:= ol Q glelel=19|= 1} >
nlolole ol ClZIEIZ|Z|Z]l | | & 0] = o
slolelols|o|lE|o|o|o|w|o| ol E|lwm @ c b=
AR EEEBEEEEEEEE 5| s S 2
2|22\ 5| 8|5|2]%|5|8|8|8|5|E|8| S| 3 7 8 @
(o) =] =] N =3 =1 Bl =4 1 =1 1 1 s e a8 w| = X 14 = (®)
C|E|E|C|E|E|C|E|C|E|JE|JE|C]|C]|C E
3171514151424 12|4|4|1413]2]|3 4
1184796700 9| 9| 6|10| 9| 7| 8] 8| 7| 8] 8| 7| 9| 9| 9|admis| 8,196 60| -/-/Electroth-5 7,48710
2|75/878¢ 7| 6| 0| 6| 8| 0|10 O O O Of Of 810 O 0 26| -/ -/ OM2, Practica spec 0
3849701 7 7] 7| 9| 8| 6] 6| 6| 7| 7| 6] 6] 8 5| 9ladmis 7| 60| -/RM1-7, RM2-5, Practica dom / OM2-5, MUPA-5 0
4180/9263 0| O] O] O] Of 0|10 SIM,DTI1, DTI2 / RM1, RM2 / OM2, MUPA, 1A, AHP, TASPMA, Practica spec taxa
5[85/9727] 8| 9] 8| 8| 8| 7| 7| 9] 7| 8| 8] 9| 8| 7| 9ladmis| 8,143| 60|Termoth1/ Termoth2-7 /- 0
6l8s/9769 8| 9] 9| 8] 9| 6| 8] 9] 7| 9] 7| 9] 9/10/10|admis 8,5 60| -/ Mecanisme-6, RM2-5 / OM2-5 7,100(0
7p8/1003y 9| 9| 8| 9| 9| 6| 6| 9| 7| 8| 8| 9| 9| 6| 9ladmis| 8,268| 60(DTI1-8, GD-8/-/- 7,76110
8l8s/9784 9| 8| 9| 9| 9| 6| 7| 8| 8| 7| 7| 6| 9| 5| 7|admis| 7,732 60| -/RM1-5 RM2-5/ OM2-6, AHP-5 6,896|0
9f7e/8909 9| 8| 8| 7| 7| 6] 8| 7] 6] 9] 6| 5]/ 9|1 7| O 0 53|SIM-6, GD-5, DTI2-5/ OM1-6 / - 0
10186/9804] 8| 5| 5| 8| 7| 4| 6| 6| 7| 6| 6] 6| 8] 5| 8|admis 56|SIM-5, Mec2-5 / RM1-6, Mecanisme-6, RM2-5, OM1-5, VM-5 / OM2-5, Electroth-5, AHP 0
11186/9814 8| 5| 5| 6] 7 6| 6| 6| 6| 6/ 6| 8 5| 7|admis Mec2 / RM1-6, TCD-5, RM2-5, VM-6 / OM2-6, AHP-5 taxa tf
12|86/9824] 8| 8| 6| 7| 8| 7| 7| 8| 8| 9| 8| 7| 9| 6| 9|admis| 7,679| 60[SIM-5/RM1-6, RM2-5 / OM2-6, AHP-5 6,770|0
13186/9837| 6| 5| 6| 6| 6| 6| 8| 7| 7| 7 6 5| 7|10| 8|admis| 6,357| 60| -/RM1-5, RM2-5, Practica dom-9 / OM2-7, MPMIA-7, Practica spec-6 6,161]0
14186/9839 7| 6| 7| 9| 7| 6| 6| 8| 7| 7| 7| 7| 9| 5| 8|admis| 7,071| 60| -/RM1/AHP-5 0
15(86/9869 7| 6| 6| 6| 7| 6] 6| 6| 7| 6| 5| 5| 8| 5| 6|admis| 6,107| 60| -/RM1, Mecanisme-5, RM2-5 / AHP-5 0
16186/98720 7| 8| 6| 6] 9| 6{10| 8| 7| 6| 7| 7| 8| 8| 8ladmis| 7,321| 60| -/ RM1-5, Mecanisme-6, RM2-5 / OM2-5, AHP 0
17(73/8551 7| 7| 6| 9| 7| 4| 5| 7| 8| 5| 6| 8| 9| 6| 7|admis 56|SIM-6 / Mecanisme-5, Ed fiz2, OM1-5 / OM2-6, AHP 0
18]78/9015 O O] O O] O] Of 5| Of O] Of O] Of O] O O 0 2|DTI2, Ed fiz1 / Mecanisme, TCD, RM2, OM1 / MF, Electroth, MUPA, ER 0
19(87/9909 8| 6| 7| 6| 8| 6| 6| 7| 8| 5| 6| 7| 7| 5| 8|admis| 6,643 60|SIM-5, Mec2-5/ RM1-7, RM2-5 / OM2-6, Electroth-5, AHP-5 6,252|0
20(87/9925( 8| 7| 8| 6| 9] 6| 8] 8] 7| 7| 7| 7| 8| 5|10|admis| 7,429| 60| -/RM1-5, RM2-5/ AHP-5 6,517]0
21(87/992¢) 8| 7| 6| 8| 7| 6]10| 8] 7| 7| 7| 8| 8| 9|10(admis 7,5| 60|SIM-5, Mec1, Ed fiz1-adm / Mecanisme-6 / OM2-6, Electroth-5 0
22187/9931 7| 7| 6| 6| 7| Of O 7| 7| 8| 5| 6| 8| 5| 8|admis 54|Mec1-5 / RM1, Mecanisme, Termoth2, TCD-5, RM2 / OM2-5, Limba1-7, AHP 0
23[65/7741 gl gl 8| 9] 8| 4[10 -/ -/ ER-8, IA, BAMA taxa
24187/997¢0 8| 7| 6| 7| 7| 7| 7| 8| 7| 8| 6| 6] 8(10] 6|admis| 7,071] 60|SIM-5, Termoth1-5, Ed fiz1-adm / RM1-6, TCD-5, OM1-6, VM-5 / MUPA-6 6,457(0
25(87/9081| 9| 7| 7| 6| 8| 6| 6| 8| 8 8| 7| 8| 8/10| 8|admis| 7,482| 60|Mec2-5/RM2-5, VM-5/ OM2-6, AHP-6 7,19110
26187/9987] 6| 6| 5| 7| 6] 6| 8] 9| 8] 9] 6| 7| 8| 8] O 0 53(Mec2-5 / RM1-5, Termoth2-5, TCD-5, OM1-5 / OM2-6, Electroth-5, AHP-6, TASPMA-6(in cat), MR-5, BAMA-5 0
27187/9998 7| 6| 5| 6| 7 6l 6| 7| 5| 5| 6| 7| 7| 6|admis SIM / RM1, TCD-5, RM2-5 / AHP-5 taxa tf
28184/9634 7| 0| O 6| O O 9 14|SIM / MS, TCD, Ed fiz2-adm, VM, Ed fiz3-adm / OM2, Practica spec taxa




